2

KB i ¢ D K E IR A
(9] REFHKY
(1) BYEZE R O IR A

@ JFUk
£ 7K e A H H28.4.18 | H28.5.23  H28.6.21 @ H28.7.26 | H28.8.30
PN i 5 5 5] = 5]
= i (©) 18.2 25.6 20. 1 24.6 23.4
7K i (©) 11.5 12.8 15.0 15.9 16. 4
— ik A (f8 /mL) 0 3 11 9 22
x i (MPN/100mL) 0 20 88 3 10
HRFITULEVTZDOEY (mg/L) — — — — —
K K O F O b A& W (mg/L) — — — — —
v L v kO D EAE W (mg/L) — — — — —
m Kk ™ F o v A W (mg/L) — — - — —
v & O 0 kA& W (mg/L) — — — — —
N A - U (mg/L) — — — — —
il it fik HE %= = (mg/L) <0. 004 — — <0. 004 —
T M A A RO T (mg/L) — — — — —
MBREEELCHMBREER (mg/L) 0.53 — — 0.74 —
7 v #E Kk Ol AE Y (mg/L) <0. 08 — — <0. 08 -
A U F K X EF O b & W (mg/L) — — — — —
| bi e K F# (mg/L) — — — — —
IR - (mg/L) — — — — —
VA-1,2-Y 7 muxF L KN
T R-1,2-V /7 muxF L (mg/L) — — — — —
DA = = A o N (mg/L) — — - - -
> N 5 / v ur T F L v (mg/L) — — — — -
Y 7 v v == F L v (mg/L) — — — — —
~ % v N (mg/L) — — — — —
#H ES i3 (mg/L) — — — — —
7 = | e [ (mg/L) — — — — —
2z = o R iz A (mg/L) - - - - -
v 7 5! = i i3 (mg/L) — — — — —
> T nm ® J monu A H v (mg/L) — — — — —
5 F# i3 (mg/L) — — — — —
Wb y N Bw X v (mg/L) — — — — —
b ) 7 = = (mg/L) - — — — —
7w ' ¥ 7 v oua A X v (mg/L) — - - - -
7 = s 2 s A (mg/L) — — - — —
A N A 7 N F B K (mg/L) - - — - -
o &k O F 0 b AW (mg/L) — — — — —
TNV =0 LK OEZEDONEW (mg/L) — — — — —
% K O F o b A B (mg/L) 0. 01 — — 0. 01 —
i K O F o v A& W (mg/L) — — — — —
> F U U AR E DO EW (mg/L) — — — — —
~ v kR E DA AW (mg/L) <0. 005 — — <0. 005 —
iy 1t ¥ A 7+ Vg (mg/L) 1.3 — — 1.2 —
ANV T, TRV LEGEE) (mg/L) 36 — — 38 —
7K i Js3 2 Y (mg/L) — — — — —
A L R | (mg/L) — — — — —
D2 B 7 A N v (mg/L) — — — — —
2- X F ) A4 VR )R F — )b (mg/L) — — — — —
¥ A4 & v R om wm A (mg/L) - - — — —
=7 s J — JL JH (mg/L) — — — — —
WY (& F KR E (T00) O & (mg/L) 0.2 0.2 0.2 0.3 0.5
p H i 7.6 7.6 7.6 7.6 7.4
% — _ _ _ _
5 = HBERL PR HBERL PR e
£, =3 () 0.5 0.5 0.6 0.6 1.5
N g () <0.1 0.1 0.1 0.1 0.1
7 2 i F (mg/L) — — — — —
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H28.9. 27 | H28.10.24 H28.11.21 | H28.12.14 H29.1.23 H29.2.21 @ H29.3.15 TN /N D)
I & & ] I} i & - -

24.4 12.7 12. 4 7.0 3.8 6.2 5.1 25.6 3.8 15.3
15.5 13.9 12.1 9.4 6.7 7.4 8.1 16. 4 6.7 12.1
2 1 2 15 2 2 2 22 0 6
0 12 9 12 0 0 1 88 0 13

— <0. 0003 — — — — — — — <0. 0003

— | <0. 00005 — — — — — — — | <0.00005

— <0. 001 — — — — — — — <0. 001

— <0. 001 — — — — — — — <0. 001

— <0. 001 — — — — — — — <0. 001

— <0. 005 — — — — — — — <0. 005

— <0. 004 — — <0. 004 — — <0. 004 <0. 004 <0. 004

— <0. 001 — — — — — — — <0. 001
— 0. 57 — — 0.62 — — 0.74 0.53 0.62

— <0. 08 — — <0. 08 — — <0. 08 <0. 08 <0. 08

— <0.01 — — — — — — — <0.01

— <0. 0001 — — — — — — — <0. 0001

— <0. 001 — — — — — — — <0. 001

- <0. 0002 - - - - - - <0. 0002

- <0. 0001 - - - - - - <0. 0001

- <0. 0001 - - - - - - <0. 0001

- <0. 0001 - - - - - - <0. 0001

— <0. 0001 — — — — — — <0. 0001

- <0. 005 - - - - - - <0. 005

- <0.01 - - - - - - <0.01

- <0.01 - - <0.01 - <0.01 <0.01 <0.01

— <0.01 — — — — — — <0.01
- 3.2 - - - - - - 3.2

- <0. 005 - - <0. 005 - <0. 005 <0. 005 <0. 005
- 1.2 - - 1.3 - 1.3 1.2 1.3
- 39 - - 36 - 39 36 37
— 66 — — — — — — 66

- <0.01 - - - - - - <0.01

— | <0.000001 - - - - - — | <0.000001

— | <0.000001 - - - - - — | <0.000001

- <0. 005 - - - - - - <0. 005

— <0. 0005 — — — — — — <0. 0005
0.4 0.2 0.2 0.6 0.2 0.2 0.2 0.6 0.2 0.3
7.5 7.5 7.5 7.4 7.5 7.7 7.8 7.8 7.4 7.6

R L R RERL R RERL R R - B

0.6 <0. 5 0.5 2.1 <0. 5 <0. 5 0.5 2.1 <0. 5 0.5

<0.1 <0.1 <0.1 0.1 <0.1 <0.1 <0.1 0.1 <0.1 <0.1
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2 KBS OKEMRAE
(9) EBHKE
(1) AL M O R A

@O JFK
£ 7K 4 A H H28.4.18 | H28.5.23  H28.6.21 @ H28.7.26 | H28.8.30
TrFEUVREPTZOIED (mg/L) — — — — —
v 7 vk E O EAE W (mg/L) — — — — —
= v F LV ET®ZE O EDY (mg/L) — — — — —
,2- ¥ 7 w wu = K v (mg/L) — — — — —
I % - Vg (mg/L) — — — _ _
TENLVEBY (2= F A~ X L) (mg/L) — — — — —
iR # ES [i7e (mg/L) — — — — —
Y 7 m w7 k& b= kU L (mg/L) — — — — —
W ok 7 v 7 = ) (mg/L) — — — — —
Jid B A — — — — —
ifE Hfe R [i7e (mg/L) — - - - -
LL,1- MY 7 v owm x ¥ (mg/L) — — — — —
A F ) —t—- 7 F )L = — 75 )L (MTBE) (mg/L) — — — — —
B K M E (T O N ) <1 1 <1 1 1
B (5 2 ) T D) — — — — —
e & 5 2% A ({8 /mL) 270 370 620 120 910
LI- ¥ 7 v g0 = F L v (mg/L) — — — — —
53 = % 3 fied B (MPN/100mL) - - - - -
A ok ¥ W B R E Rk ' (mg/L) — — — — —
% 17 173 # (mg/L) - - - - -
% - v > a2 [t (MPN/L) 2 3 10 13 6
it = lie S fiad B (MPN/L) — — — — —
x 5 B (MPN/100mL) 2 70 180 110 290
# OO $4 Bk (MPN/100mL) — — — — —
7T oy E = T f #E # (mg/L) <0. 02 — — <0. 02 —
# S D % A (mg/L) — — — — —
- 7 > > v 2 (mg/L) - - - - -
it i3 A %+ N (mg/L) 3 — — 3 —
b U N o A H v A Rk RE (mg/L) — — — — —
i 7 JL 7 ) B (mg/L) — — — - —
E = = H 2 (mS/m) 8.6 9.1 9.2 9.0 8.3
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H28.9.27 | H28.10.24  H28.11.21 H28.12.14  H29.1.23 @ H29.2.21 @ H29.3.15 R /) )
- <0. 0003 - - - - - - - <0. 0003
- <0. 0002 - - - - - - - <0. 0002
- <0. 001 - - - - - - - <0. 001
- <0. 0001 - - - - - - - <0. 0001
— <0. 0001 — — — — — — — <0. 0001
- <0. 001 - - - - - - - <0. 001
— <0. 001 — — — — — — — <0. 001
- 1.3 - - - - - - - 1.3
— <0. 0001 — — — — — — — <0. 0001
— <0. 0001 — — — — — — — <0. 0001
<1 1 <1 1 <1 2 1 2 <1 <1
— -1.5 — — — — — — — -1.5
130 120 660 4,400 340 1,100 680 4,400 120 810
— <0. 0001 — — — — — — — <0. 0001
— 0 — — — — — — — 0
0 5 4 15 5 3 11 15 0 6
— 340 — — — — — — — 340
64 44 47 200 5 13 6 290 2 86
— 8 — — — — — — — 8
— <0. 02 — — <0. 02 — — <0. 02 <0. 02 <0. 02
— 10 — — — — — — — 10
— 3.0 — — — — — — — 3.0
— 3 — — 3 — — 3 3 3
— 37 — — — — — — — 37
8.6 9.1 9.1 8.0 8.6 8.9 9.1 9.2 8.0 8.8
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2 KGR DO KEHRAE
(9) EBHKE
(1) B R Ol E AL

@O JFK

£ 7K i A H H28. 10. 24 22 7K i A H H28. 10. 24
L3V 7w w7  na” v DD (mg/L)| <0.0002 F 4+ 7 7 Fx — bk A F J (mg/L)| <£0.0001
2,2-DPAC ¥ & v ) (mg/L)| <0.0002 F F X v FH o 7 (mg/L)| <0.0001
2, 4-D (2, 4-PA) (mg/L)| <0.0001 F O 7 H 7 (MBPMC) (mg/L)| <0.0001
EPN (mg/L)| <0.00001 k P v =t =4 Jb (mg/L)| <0.00005
MCPA (mg/L)| <0.00005 U 7 v v & v (DEP) (mg/L)| <0.00005
7 v e 7 2 (mg/L)|  <0.0001 kU ¥y 7 Z v — L (mg/L)| <0.0001
7 + 4 - — I (mg/L)| <0.00005 kv o7 o Z U v (mg/L)| <0.0001
7 k 7 DA > (mg/L)| <0.0001 5 a = s N K (mg/L)| <0.0001
7 = =4 Rz 2 (mg/L)| <0.00001 =4 ~ =t N 2 (mg/L)| <0.00001
7 N b Z 2 (mg/L)| <0.00005 v 5 Y % v 7 = v (ng/L)] <0.00001
7 7 7 =4 — Jb (mg/L)| <0.0001 oYU x—h(EFYL— k) (mg/L)| <0.0001
4 Y % ¥ F  F v (mng/L)| <0.00005 vy F 7 = v F 4 v (mg/L)]| <0.00001
4 v 7 = v & A (mg/L)| <0.00001 vy 7 F H v F (mg/L)]| <0.0001
A4 Y 7 v H N 7 MIPC) (mg/L)| <0.0001 =4 = ¥ =t > (mg/L)| <0.0001
A4 Y 7 v F F F v (IPT) (mg/L)| <0.0001 7 A e = = JV (mg/L) [<0. 000005
A4 7 m N » &’ A (IBP) (mg/L)| <0.0001 7 = = b v F F ¥ (MEP) (mg/L)| <0.0001
A4 v ¥ 7 7 7 v (mg/L)| <0.00005 7 = /) 7 H v Z7 (BPMC) (mg/L)| <0.0001
-~ 2 F w #H N 7 (ng/L)| <0.0001 7 = v F F v PP) (mg/L)| <0.00005
= ¥ 4 7 = v & % (EDDP) (mg/L)| <0.00005 7 = v k = — b (PAP) (mg/L)| <0.00005
= N7 = v 7 v v 7 A (ng/L)] <0.0001 7 x v F 7 ¥ I F (mg/L)| <0.0001
T RYTPTY— (= a A=) (mg/L)| <0.00001 4 VA 7 A K (mg/L)[ <0.0001
T RALT 7 (R ) (ng/L)|  <0.0001 7 vl v =4 — JL (mg/L)| <0.0001
4+ ¥ ¥ Y 7 v A K v (mg/L)| <0.0001 7 v N ) 2 (mg/L)| <0.0001
% v v 8 (F B 8 ) (mg/L)| <0.0001 7 7 wm 7 = ¥ v (mg/L)| <0.0001
4 UV ¥ A b m B v (mg/L)] £0.0001 4 JL 7 v a 2 (mg/L)| <0.0001
H 2 Va N 2 (mg/L)| <0.00001 7 v F Z 7 v — 5 (mg/L)| <0.0001
H 7 = v A k m — i (mg/L)| <0.00005 -7 = D 3 K > (mg/L)| <0.0001
F /A VIS SR s (NAC) (mg/L)| <0.0001 vl =i ¥ %+ Rz 2 (mg/L)| <0.00001
oo 7 om0 3 R (mg/L)|[ <0.0001 7 v ¥ a5 v — L (mg/L)| <0.0001
H L N 7 Z > (mg/L)| <0.00005 v = = i N K (mg/L)[ <0.0001
X /7 7 2 v (ACN) (mg/L)| <0.00005 7 v Ny — L (mg/L)| <0.0001
* ¥ 7 v > (mg/L)| <0.0001 v =t £ 7 ¥ K (mg/L)[ <0.0001
v 2 JL =4 > (mg/L)| <0.0001 ~ J 2 Jb (mg/L)| <0.0002
sy wm A w v 7 (mg/L)| <0.0001 ~ N g Vi =t > (mg/L)| <0.0001
7 m )= kua 7 = > (CNP) (mg/L)| <0.00001 N v Y v ¥y om v (mg/L)| <0.0001
s/ w A B U & R (mg/L)| <0.00001 ~ v v 7 = F v 7 (mg/L)]| <0.00001
7 m v % u = b (TPN) (mg/L)| <0.0001 ~ N v ) >~ (mg/L)| <0.0001
D2 7 - DX > (mg/L)| <0.00001 ~ v F 4 A Z U v (mg/L)| <0.0001
¥ 7 7 3 % (CYAP) (mg/L)| <0.00001 N v 7 5 H v F (mg/L)| <0.0001
v v =4 v (DCMU)  (mg/L) [ <0.0001 Ny T ANT Y (R zxuYr) (mg/L)| <0.0001
v 7 v < = 5 OBN) (mg/L)| <0.0001 ~N v 7 L & — b (mg/L)| <0.0001
Y 7 wm A AR Z  (DDVP) (mg/L)| <0.00005 A A F 7 ¥ — I (mg/L)| <0.00001
VANE R U(ZFAFAA L) (mg/L)| <0.00001 ~ 7 F F v (=~ F Y v ) (mg/L)| <0.0001
v ¥ %+ = sV (mg/L)| <0.00005 A @ F wm v 7 (MCPP) (mg/L)| <0.0001
oo v R vy 7 F L (mg/L)] <0.00005 A v 3 JV (mg/L)| <0.0001
v ~ v N (CAT) (mg/L)| <0.00001 A v Z x D4 b (mg/L)| <0.0001
v A Z R U ¥ (mg/L)| <0.0001 A F F F F »  (DMTP) (mg/L)| <0.00001
v A k - — L (mg/L)| <0.0001 A F X 4 A v v (ng/L)| <0.0001
v A § U ~ (mg/L)| <0.0001 A F I 7 Z2 F v E » (mg/L)| <0.0001
YA ¥~ L — b (mg/L)] <0.00001 A b Jj 7 D v (mg/L)| <0.0001
vl A 7 v J > (mg/L)| <0.00001 A 7 = F & v + (mg/L)| <0.0001
v A A =1 > (mg/L)| <0.0001 A a =4 = JL (mg/L)| <0.0001
¥ 7 v = Jb (mg/L)| <0.0001 £ Jj X — L (mg/L)[ <0.00005

¥ v = 2 (mg/L)| <0.0001

7 %+ 4 VY Jb 7 (mg/L)| <0.0001
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£ 7K i A H H28. 10. 24 22 7K i A H H28. 10. 24
EPN 7 ¥ 4 > (mg/L)| <0.00001 F T A % ¥ A& (mg/L)| <0.0001
A4 Y XY F 4 v F F Y v (mg/L)| £0.00005 Vi 7 Ju Vi 2 K (mg/L)| <0.0001
A4 Y 7 = v K A F % Y v (ng/L)[<0.000005 T b7 7 v LB A A (CWP) (mg/L)| <0.0001
- v F 2 A 7 = — b (mng/L)| <0.0001 > b 7 =2 F ¥V — J (mg/L)| <£0.0001
CNP- 7 3 J & (mg/L) [<0. 000001 > 7 7 = J ¥ K (mg/L)] <£0.0001
7 v ¥ U R AL F Y v (mg/L)| <0.00001 U X% W% X vy 7 = F b (mg/L)| <0.0001
A4 7T Y ) v F F Y v (mg/L)]| <0.00001 U 7 o 2 Y — b (mg/L)| <0.0001
7 =t FF A F Y (mg/L)]| <0.00005 > 7 w7 = Y K (mg/L)| <0.0001
MPP 2 L & F ¥ K (mg/L)| <0.00005 = 7 N = 5 2 (mg/L)| <0.0001
MPP A JL gz v (mg/L)| <0.00005 Ny v 7 5 Y — v (mg/L)| <0.0001
MPP %+ ¥ v > (mg/L)| <0.00005 =4 A k =4 V4 > (mg/L)| <0.0001
MPP 4 &% ¥ v 2 )L 3R & ¥ K (mg/L)| <0.00005 g Yz 7 uarx F L (mg/L)| <0.0001
MPP 4+ ¥ Y ¥ Z A & v (mg/L)| <0.00005 U Ny 7 A F gL (mg/L)]| <0.0001
7 % I &k A 4 ¥ Y v (mg/L)| <0.0001 ) 2 K A A F b (mg/L)]| <0.0001
7 v ® 7 F K5 7 v ® (mg/L)| <0.0001 7 7 A b =4 JL (mg/L)| <0.0001
~ 7 F F v F J v (mg/L)| <0.0001 7 v 7T Y & v 7 (mg/L)| <0.0001
7 w2 = 2 (DCPA) (mg/L)| <0.0001
7 v x 2 7 Y F (mg/L)[ <0.0001 -7 = A N 2 (mg/L)| <0.00001
4 X ¥ 7 wuv 7 U K (mg/L)| <0.0001 7 a N v ¥ » b (BPPS) (mg/L)[ <0.0001
F 7 a  F v — L (mg/L)] <0.0001 7 v K Fx A A (PHO) (mg/L)| <0.0001
|=§ 7 v =4 Rz 2 (mg/L)| <0.0001 va = A bk ) > (mg/L)| <0.0001
7 O A 7 7 2 F (mg/L)| <0.00001 N Z A4 F v 7 (mg/L)| <0.00005
7 = < V4 Jb (mg/L)| <0.0001 7 ¥ DV 2 (mg/L)| <0.00001
~ v b F ¥ Y (mg/L)]| <0.0001 Rz 2 & i F (mg/L)| <0.0001
N A = > (mg/L)| <0.0001 £/ 7 v b K A (mg/L)] <0.00001
A N 7 v — b (mg/L)| <0.0001 ] = E =4 > (mg/L)| <0.0001
T YNV T =8- A F L (mg/L)| <0.0001 7 Y ¥ ¥ 2 F v v v (mg/L)| <0.0001
7 A bk P > (mg/L)| <0.0001 A =7 = v % > (mg/L)| <0.0001
A4 F X~ T 4 F (mg/L)|[ <0.0001 7 = = kS 7 (mg/L)| <0.0001
4 <= Y A2 A 7 u v (mg/L)| <0.0001 T val = 2 > (mg/L)| <0.0001
o= =2 F J — 3 P (mg/L)| <0.0001 Va = JL 7 =4 — JL (mg/L)| <0.0001
= b ¥ ¥ X o 7 v ¥ (mg/L)| <0.0001 M v 7 v R A A F b (mg/L)| <0.0001
- + N v ¥ = F (mg/L)| <0.0001 | A 7 v v A F g (mg/L)| <0.0001
+ % Y 7 L F o (mg/L)]| <0.0001 v 7 = v 7 A (mg/L)| <0.0001
%+ * va N Jb (mg/L)| <0.0001 vy 7 e % ¥ 7 = v (mg/L)| <0.0001
* ¥ v ks v 7 = F ) (mg/L)| <0.0001 7 5 ¥ =z A 7 v v (mg/L)| <0.0001
s v F 7 = ¥ v (mg/L)]| <0.0001 4 L k 7 = b (mg/L)| <0.0001
s w <= 7 = 7 ¥V F (mg/L)| <0.0001 N R y K (SAP) (mg/L)| <0.0001
7 gL B — )L P A F )L (ICTP) (mg/L)| <0.0001 N v AR 7 m v A F v (mg/L)|  <0.0001
7 v b F U R A A F b (mg/L)| <0.0001 A * ¥ Jb (mg/L)| <0.0002
Y7 v 7 x v F 4 v (ECP) (mg/L)| <0.00005 L Z BdE AAFALAEFY v (mg/L)| <0.0001
D Vi = A v > (mg/L)| <0.0001
Yy wm A 7 v v 7 (ng/L)| <0.0001 > * ¥ ¥ F7F Y v (mg/L)| <0.0001
> ) A 7 v v (mng/L)| <£0.0001 s m A b *¥ ¥ = Jv (mg/L)| <0.0001
v J 7 7 Z > (mg/L)| <0.0001 )7 EL-2-7 F X =F 0 (mg/L)| <0.0001
Y 7 = J a3 F Y — b (mg/L)| <0.0001 = + m 7 = v (NIP) (mg/L)| <0.0001
v 7 g X v X m  r (mg/L)| <0.0001 - = A DX > (mg/L)| <0.0001
vy 7 v =z v — b (mg/L)| <0.0001 2- 4 b ® U % — k (mg/L)| <0.0001
D - o D = JL (mg/L)| <0.0001
¥ A @ F Y — 2 (mg/L)| <£0.0001
Y A F o v v & 2 (mg/L)| <0.0001
vy 7 7 v & 7 = v (mg/L)| <0.0001
v v A ¥ P > (mg/L)| <0.0001
F 7 v wa  F K (mg/L)[ <0.0001
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2 KBS OKEMRAE
(9) EBHKE
(1) AL M O R A

@ Kk
£ 7K e A H H28.4.18 | H28.5.23  H28.6.21 @ H28.7.26 | H28.8.30
PN i 5 5 5] = 5]
= i (C) 18.2 25.6 20. 1 24.6 23.4
7K i (C) 11.8 13.9 15.9 16. 6 17.2
— ik A (f8 /mL) 0 0 0 0 0
x i (MPN/100mL) 0 0 0 0 0
BRI T AREOEONEY (mg/L) — — — - —
K K O F O b A& W (mg/L) — — — — —
v L v kO D EAE W (mg/L) — — — — —
m Kk ™ F o v A W (mg/L) — — - - —
v & O 0 kA& W (mg/L) — — — — —
N A - U (mg/L) — — — — —
i) i i HE = F (mg/L) <0. 004 — — <0. 004 —
T M A A RO T (mg/L) — — — — —
MBREEELCHMBREER (mg/L) 0.53 — — 0.78 —
7 v F K N O LA W (mg/L) <0. 08 — — <0. 08 —
r v F KR O F 0O AW (mg/L) — — - - —
Iy bi 1k K F# (mg/L) — — — — —
1,4- 4 7 & VA v (mg/L) — — — — —
VA-1,2-Y 7 muxF L KN
T v Rx-1,2-YV 7 uuxF L (mg/L) — — — — —
DA = = A o N (mg/L) — — - - -
> K % 7/ mouw = F L v (mg/L) — — — — —
K'Yy /7 v omr = F L v (mg/L) — — — — —
~ N ¥ v (mg/L) — — — — —
#H & Fiiz (mg/L) 0. 06 — — 0. 06 —
7 = | e [ (mg/L) — — — — —
2z = o R iz A (mg/L) - - - - -
v 7 5! = i i3 (mg/L) — — — — —
> T nm ® J monu A H v (mg/L) — — — — —
5 F# i3 (mg/L) — — — — —
- ) VA S = S G S (mg/L) — — — — —
b ) 7 = = (mg/L) - — — — —
7 o £ Y J a na A K v (mg/L) — — — — —
7 = s 2 s A (mg/L) — — - — —
A N A 7 N F B K (mg/L) — - — - -
o &k O F 0 b AW (mg/L) — — — — —
TILI =20 Ak NZEDOEY (mg/L) — — — — —
% K O = o b A W (mg/L) <0.01 — — <0. 01 —
i K O F o v A& W (mg/L) — — — — —
> F U U AR E DO EW (mg/L) — — — — —
~ v kR E DA AW (mg/L) <0. 005 — — <0. 005 —
bz 1t ) A 7+ Vg (mg/L) 1.4 — — 1.3 —
AT NN Sy VN S i) (mg/L) 36 — — 37 —
7K i Js3 2 Y (mg/L) — — — — —
B 4 4 v K om % Al (mg/L) — — — — —
DA £ 7 A 2 NG (mg/L) — — — — —
2- X F L A4 YV KR ILR A — )b (mg/L) — — — — —
¥ A4 & v Fom % A (mg/L) — — — — —
-7 T ) — JL JH (mg/L) — — — — —
H WY (& F KR FE (00 O &) (mg/L) 0.2 0.2 0.2 0.3 0.4
p H i 7.7 7.6 7.7 7.7 7.6
S Bl BEALL | BELL | BESL OBEARL
5 & HBHeyhl | BEaL | BEAeL | BEEhL BESRL
&, 5 () <0.5 0.5 0.5 <0.5 <0.5
) g (%) <0.1 0.1 0.1 0.1 0.1
53 "” H e (mg/L) 0.4 0.4 0.4 0.4 0.4
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H28.9.27 | H28.10.24 | H28.11.21 | H28. 12. 14 H29.1.23 | H29.2.21 | H29. 3. 15 LN £ 7)N 1)

i = = 5] 5 i = — — —
24. 4 12.7 12.4 7.0 3.8 6.2 5.1 25. 6 3.8 15.3
16. 4 14.5 12.0 9.1 7.0 7.5 8.6 17.2 7.0 12.5

0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
— | <0.0003 — — — — — — — | <0.0003
— | <0.00005 — — — — — — — | <0.00005
— <0. 001 — — — — — — — <0. 001
— <0. 001 — — — — — — — <0. 001
— <0. 001 — — — — — — — <0. 001
— <0. 005 — — — — — — — <0. 005
— <0. 004 — — <0. 004 — — <0. 004 <0. 004 <0. 004
— <0. 001 — — — — — — — <0. 001
— 0.57 — — 0. 62 — — 0.78 0.53 0. 63
— <0. 08 — — <0. 08 — — 0. 08 0. 08 <0. 08
— <0. 01 — — — — — — — <0. 01
—<0.0001 — — — — — — —<0.0001
— <0. 001 — — — — — — — <0. 001
—|<0.0002 — — — — — —|<0.0002
— | <0.0001 — — — — — — | <0.0001
— | <0.0001 — — — — — — | <0.0001
— | <0.0001 — — — — — — | <0.0001
— | <0.0001 — — — — — — | <0.0001
— <0. 06 — <0. 06 — — <0. 06 <0. 06 <0. 06
— <0. 002 — — — — — — <0. 002
—|0.0018 — — — — — —|0.0018
— <0. 002 — — — — — — <0. 002
— | <0.0001 — — — — — — | <0.0001
— <0. 001 — — — — — — <0. 001
—|0.0021 — — — — — —|0.0021
— <0. 002 — — — — — — <0. 002
— | 0.0003 — — — — — —|0.0003
— | <0.0001 — — — — — — | <0.0001
— <0. 002 — — — — — — <0. 002
— <0. 005 — — — — — — <0. 005
— <0. 01 — — — — — — <0. 01
— <0. 01 — <0.01 — — <0. 01 <0. 01 <0. 01
— <0. 01 — — — — — — <0. 01
— 3.4 — — — — — — 3.4
— <0. 005 — <0. 005 — — <0. 005 <0. 005 <0. 005
— 1.4 — 1.4 — — 1.4 1.3 1.4
— 38 — 36 — — 38 36 37
— 62 — — — — — — 62
— <0. 01 — — — — — — <0. 01
—| €0.000001 — — — — — —| <0.000001
—| <0.000001 — — — — — — | <0.000001
— <0. 005 — — — — — — <0. 005
— | <0.0005 — — — — — — | <0.0005
0.2 0.2 0.2 0.2 0.2 0.2 0.2 0. 4 0.2 0.2
7.6 7.6 7.6 7.6 7.6 7.8 7.8 7.8 7.6 7.7
el BELL | BEALL BEASL | O BEASL | O BEALL BEhL — — BEL
Bl BERL | BEALL BEASL O REAs2L | BEALL BEALL — HEnL
0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1
0. 4 0. 4 0.4 0. 4 0.3 0.4 0.4 0.4 0.3 0.4
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2 KBS OKEMRAE
(9) EBHKE
(1) AL M O R A

@ K
£ 7K = A H H28.4.18 | H28.5.23  H28.6.21 @ H28.7.26 | H28.8.30
T FELVEVBZ O EW (mg/L) — — - - -
v 7 vy EXZE O/ AEY (mg/L) — — — — —
= v F LV ET®ZE O EDY (mg/L) — — — — —
L2- ¥ / w o om x & (mg/L) - - - - -
I % - Vg (mg/L) — — — _ _
TENLVEBY (2= F A~ X L) (mg/L) — — — — —
il # ES [i7e (mg/L) — — — — —
Y 7 m w7 k& b= kU L (mg/L) — — — — —
W ok 7 v 7 = ) (mg/L) — — — — —
Jid 3 A — — — — —
ifE At R [i7e (mg/L) — — — — —
LL,1- MY 7 v owm x ¥ (mg/L) — — — — —
A F ) —t—- 7 F )L = — 75 )L (MTBE) (mg/L) — — — — —
B K M E (T O N ) <1 <1 <1 <1 <1
B (5 2 ) T D) — — — — —
1 B % Ei3 b (f& /mL) 1 0 0 2 0
LI- ¥ 7 v g0 = F L v (mg/L) — — — — —
53 = P 3 fied B (MPN/100mL) - - - - -
A ok ¥ W B R E Rk ' (mg/L) — — — — —
% 17 173 # (mg/L) — — — — —
v = g v £ &3] (MPN/L) - - - - -
it = e S figd B (MPN/L) — — — — —
x 1% #E (MPN/100mL) 0 0 0 0 0
# OO $H Bk (MPN/100mL) — — — — —
7 oy E = 7 W % # (mg/L) — — — — —
7 v v 17 I (mg/L) — — _ _ _
- 7 Y > v 2 (mg/L) - - - - -
it 5 A %+ N (mg/L) 3 — — 3 —
b U N o A H v A Rk RE (mg/L) — — — — —
i 7 L 7 ) i3 (mg/L) — — — - -
E = = i s (mS/m) 8.6 9.2 9.3 9.0 8.7

-229 -




H28.9.27 | H28.10.24  H28.11.21 H28.12.14  H29.1.23 @ H29.2.21 @ H29.3.15 x i/ RS

- <0. 0003 - - - - - - - <0. 0003
- <0. 0002 - - - - - - - <0. 0002
- <0. 001 - - - - - - - <0. 001
- <0. 0001 - - - - - - - <0. 0001
— <0. 0001 — — — — — — — <0. 0001
- <0. 001 - - - - - - - <0. 001
— <0. 06 — — — — — — — <0. 06
— <0. 001 — — — — — — — <0. 001
— <0. 001 — — — — — — — <0. 001
— <0. 001 — — — — — — — <0. 001
- 1.1 - - - - - - - 1.1
— <0. 0001 — — — — — — — <0. 0001
— <0. 0001 — — — — — — — <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
— -1.4 — — — — — — — -1.4
8 0 0 0 0 0 0 8 0 1
— <0. 0001 — — — — — — — <0. 0001
— 1 — — — — — — — 1
0 0 0 0 0 0 0 0 0 0
— 10 — — — — — — — 10
— 3.0 — — — — — — — 3.0
— 3 — — 3 — — 3 3 3
— 37 — — — — — — — 37

8.7 9.2 9.2 8.9 8.7 9.0 9.2 9.3 8.6 9.0
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2 KGR DO KEHRAE
(9) EBHKE
(1) B R Ol E AL

@ K

£ 7K i A H H28. 10. 24 22 7K i A H H28. 10. 24
L3V 7w w7  na” v DD (mg/L)| <0.0002 F 4+ 7 7 Fx — bk A F J (mg/L)| <£0.0001
2,2-DPAC ¥ & v ) (mg/L)| <0.0002 F F X v FH o 7 (mg/L)| <0.0001
2, 4-D (2, 4-PA) (mg/L)| <0.0001 F O 7 H 7 (MBPMC) (mg/L)| <0.0001
EPN (mg/L)| <0.00001 k P v =t =4 Jb (mg/L)| <0.00005
MCPA (mg/L)| <0.00005 U 7 v v & v (DEP) (mg/L)| <0.00005
7 v e 7 2 (mg/L)|  <0.0001 kU ¥y 7 Z v — L (mg/L)| <0.0001
7 + 4 - — I (mg/L)| <0.00005 kv o7 o Z U v (mg/L)| <0.0001
7 k 7 DA > (mg/L)| <0.0001 5 a = s N K (mg/L)| <0.0001
7 = =4 Rz 2 (mg/L)| <0.00001 =4 ~ =t N 2 (mg/L)| <0.00001
7 N b Z 2 (mg/L)| <0.00005 v 5 Y % v 7 = v (ng/L)] <0.00001
7 7 7 =4 — Jb (mg/L)| <0.0001 oYU x—h(EFYL— k) (mg/L)| <0.0001
4 Y % ¥ F  F v (mng/L)| <0.00005 vy F 7 = v F 4 v (mg/L)]| <0.00001
4 v 7 = v & A (mg/L)| <0.00001 vy 7 F H v F (mg/L)]| <0.0001
A4 Y 7 v H N 7 MIPC) (mg/L)| <0.0001 =4 = ¥ =t > (mg/L)| <0.0001
A4 Y 7 v F F F v (IPT) (mg/L)| <0.0001 7 A e = = JV (mg/L) [<0. 000005
A4 7 m N » &’ A (IBP) (mg/L)| <0.0001 7 = = b v F F ¥ (MEP) (mg/L)| <0.0001
A4 v ¥ 7 7 7 v (mg/L)| <0.00005 7 = /) 7 H v Z7 (BPMC) (mg/L)| <0.0001
-~ 2 F w #H N 7 (ng/L)| <0.0001 7 = v F F v PP) (mg/L)| <0.00005
= ¥ 4 7 = v & % (EDDP) (mg/L)| <0.00005 7 = v k = — b (PAP) (mg/L)| <0.00005
= N7 = v 7 v v 7 A (ng/L)] <0.0001 7 x v F 7 ¥ I F (mg/L)| <0.0001
T RYTPTY— (= a A=) (mg/L)| <0.00001 4 VA 7 A K (mg/L)[ <0.0001
T RALT 7 (R ) (ng/L)|  <0.0001 7 vl v =4 — JL (mg/L)| <0.0001
4+ ¥ ¥ Y 7 v A K v (mg/L)| <0.0001 7 v N ) 2 (mg/L)| <0.0001
% v v 8 (F B 8 ) (mg/L)| <0.0001 7 7 wm 7 = ¥ v (mg/L)| <0.0001
4 UV ¥ A b m B v (mg/L)] £0.0001 4 JL 7 v a 2 (mg/L)| <0.0001
H 2 Va N 2 (mg/L)| <0.00001 7 v F Z 7 v — 5 (mg/L)| <0.0001
H 7 = v A k m — i (mg/L)| <0.00005 -7 = D 3 K > (mg/L)| <0.0001
F /A VIS SR s (NAC) (mg/L)| <0.0001 vl =i ¥ %+ Rz 2 (mg/L)| <0.00001
oo 7 om0 3 R (mg/L)|[ <0.0001 7 v ¥ a5 v — L (mg/L)| <0.0001
H L N 7 Z > (mg/L)| <0.00005 v = = i N K (mg/L)[ <0.0001
X /7 7 2 v (ACN) (mg/L)| <0.00005 7 v Ny — L (mg/L)| <0.0001
* ¥ 7 v > (mg/L)| <0.0001 v =t £ 7 ¥ K (mg/L)[ <0.0001
v 2 JL =4 > (mg/L)| <0.0001 ~ J 2 Jb (mg/L)| <0.0002
sy wm A w v 7 (mg/L)| <0.0001 ~ N g Vi =t > (mg/L)| <0.0001
7 m )= kua 7 = > (CNP) (mg/L)| <0.00001 N v Y v ¥y om v (mg/L)| <0.0001
s/ w A B U & R (mg/L)| <0.00001 ~ v v 7 = F v 7 (mg/L)]| <0.00001
7 m v % u = b (TPN) (mg/L)| <0.0001 ~ N v ) >~ (mg/L)| <0.0001
D2 7 - DX > (mg/L)| <0.00001 ~ v F 4 A Z U v (mg/L)| <0.0001
¥ 7 7 3 % (CYAP) (mg/L)| <0.00001 N v 7 5 H v F (mg/L)| <0.0001
v v =4 v (DCMU)  (mg/L) [ <0.0001 Ny T ANT Y (R zxuYr) (mg/L)| <0.0001
v 7 v < = 5 OBN) (mg/L)| <0.0001 ~N v 7 L & — b (mg/L)| <0.0001
Y 7 wm A AR Z  (DDVP) (mg/L)| <0.00005 A A F 7 ¥ — I (mg/L)| <0.00001
VANE R U(ZFAFAA L) (mg/L)| <0.00001 ~ 7 F F v (=~ F Y v ) (mg/L)| <0.0001
v ¥ %+ = sV (mg/L)| <0.00005 A @ F wm v 7 (MCPP) (mg/L)| <0.0001
oo v R vy 7 F L (mg/L)] <0.00005 A v 3 JV (mg/L)| <0.0001
v ~ v N (CAT) (mg/L)| <0.00001 A v Z x D4 b (mg/L)| <0.0001
v A Z R U ¥ (mg/L)| <0.0001 A F F F F »  (DMTP) (mg/L)| <0.00001
v A k - — L (mg/L)| <0.0001 A F X 4 A v v (ng/L)| <0.0001
v A § U ~ (mg/L)| <0.0001 A F I 7 Z2 F v E » (mg/L)| <0.0001
YA ¥~ L — b (mg/L)] <0.00001 A b Jj 7 D v (mg/L)| <0.0001
vl A 7 v J > (mg/L)| <0.00001 A 7 = F & v + (mg/L)| <0.0001
v A A =1 > (mg/L)| <0.0001 A a =4 = JL (mg/L)| <0.0001
¥ 7 v = Jb (mg/L)| <0.0001 £ Jj X — L (mg/L)[ <0.00005

¥ v = 2 (mg/L)| <0.0001

7 %+ 4 VY Jb 7 (mg/L)| <0.0001
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£ 7K i A H H28. 10. 24 22 7K i A H H28. 10. 24
EPN 7 ¥ 4 > (mg/L)| <0.00001 F T A % ¥ A& (mg/L)| <0.0001
A4 Y XY F 4 v F F Y v (mg/L)| £0.00005 Vi 7 Ju Vi 2 K (mg/L)| <0.0001
A4 Y 7 = v K A F % Y v (ng/L)[<0.000005 T b7 7 v LB A A (CWP) (mg/L)| <0.0001
- v F 2 A 7 = — b (mng/L)| <0.0001 > b 7 =2 F ¥V — J (mg/L)| <£0.0001
CNP- 7 3 J & (mg/L) [<0. 000001 > 7 7 = J ¥ K (mg/L)] <£0.0001
7 v ¥ U R AL F Y v (mg/L)| <0.00001 U X% W% X vy 7 = F b (mg/L)| <0.0001
A4 7T Y ) v F F Y v (mg/L)]| <0.00001 U 7 o 2 Y — b (mg/L)| <0.0001
7 =t FF A F Y (mg/L)]| <0.00005 > 7 w7 = Y K (mg/L)| <0.0001
MPP 2 L & F ¥ K (mg/L)| <0.00005 = 7 N = 5 2 (mg/L)| <0.0001
MPP A JL gz v (mg/L)| <0.00005 Ny v 7 5 Y — v (mg/L)| <0.0001
MPP %+ ¥ v > (mg/L)| <0.00005 =4 A k =4 V4 > (mg/L)| <0.0001
MPP 4 &% ¥ v 2 )L 3R & ¥ K (mg/L)| <0.00005 g Yz 7 uarx F L (mg/L)| <0.0001
MPP 4+ ¥ Y ¥ Z A & v (mg/L)| <0.00005 U Ny 7 A F gL (mg/L)]| <0.0001
7 % I &k A 4 ¥ Y v (mg/L)| <0.0001 ) 2 K A A F b (mg/L)]| <0.0001
7 v ® 7 F K5 7 v ® (mg/L)| <0.0001 7 7 A b =4 JL (mg/L)| <0.0001
~ 7 F F v F J v (mg/L)| <0.0001 7 v 7T Y & v 7 (mg/L)| <0.0001
7 w2 = 2 (DCPA) (mg/L)| <0.0001
7 v x 2 7 Y F (mg/L)[ <0.0001 -7 = A N 2 (mg/L)| <0.00001
4 X ¥ 7 wuv 7 U K (mg/L)| <0.0001 7 a N v ¥ » b (BPPS) (mg/L)[ <0.0001
F 7 a  F v — L (mg/L)] <0.0001 7 v K Fx A A (PHO) (mg/L)| <0.0001
|=§ 7 v =4 Rz 2 (mg/L)| <0.0001 va = A bk ) > (mg/L)| <0.0001
7 O A 7 7 2 F (mg/L)| <0.00001 N Z A4 F v 7 (mg/L)| <0.00005
7 = < V4 Jb (mg/L)| <0.0001 7 ¥ DV 2 (mg/L)| <0.00001
~ v b F ¥ Y (mg/L)]| <0.0001 Rz 2 & i F (mg/L)| <0.0001
N A = > (mg/L)| <0.0001 £/ 7 v b K A (mg/L)] <0.00001
A N 7 v — b (mg/L)| <0.0001 ] = E =4 > (mg/L)| <0.0001
T YNV T =8- A F L (mg/L)| <0.0001 7 Y ¥ ¥ 2 F v v v (mg/L)| <0.0001
7 A bk P > (mg/L)| <0.0001 A =7 = v % > (mg/L)| <0.0001
A4 F X~ T 4 F (mg/L)|[ <0.0001 7 = = kS 7 (mg/L)| <0.0001
4 <= Y A2 A 7 u v (mg/L)| <0.0001 T val = 2 > (mg/L)| <0.0001
o= =2 F J — 3 P (mg/L)| <0.0001 Va = JL 7 =4 — JL (mg/L)| <0.0001
= b ¥ ¥ X o 7 v ¥ (mg/L)| <0.0001 M v 7 v R A A F b (mg/L)| <0.0001
- + N v ¥ = F (mg/L)| <0.0001 | A 7 v v A F g (mg/L)| <0.0001
+ % Y 7 L F o (mg/L)]| <0.0001 v 7 = v 7 A (mg/L)| <0.0001
%+ * va N Jb (mg/L)| <0.0001 vy 7 e % ¥ 7 = v (mg/L)| <0.0001
* ¥ v ks v 7 = F ) (mg/L)| <0.0001 7 5 ¥ =z A 7 v v (mg/L)| <0.0001
s v F 7 = ¥ v (mg/L)]| <0.0001 4 L k 7 = b (mg/L)| <0.0001
s w <= 7 = 7 ¥V F (mg/L)| <0.0001 N R y K (SAP) (mg/L)| <0.0001
7 gL B — )L P A F )L (ICTP) (mg/L)| <0.0001 N v AR 7 m v A F v (mg/L)|  <0.0001
7 v b F U R A A F b (mg/L)| <0.0001 A * ¥ Jb (mg/L)| <0.0002
Y7 v 7 x v F 4 v (ECP) (mg/L)| <0.00005 L Z BdE AAFALAEFY v (mg/L)| <0.0001
D Vi = A v > (mg/L)| <0.0001
Yy wm A 7 v v 7 (ng/L)| <0.0001 > * ¥ ¥ F7F Y v (mg/L)| <0.0001
> ) A 7 v v (mng/L)| <£0.0001 s m A b *¥ ¥ = Jv (mg/L)| <0.0001
v J 7 7 Z > (mg/L)| <0.0001 )7 EL-2-7 F X =F 0 (mg/L)| <0.0001
Y 7 = J a3 F Y — b (mg/L)| <0.0001 = + m 7 = v (NIP) (mg/L)| <0.0001
v 7 g X v X m  r (mg/L)| <0.0001 - = A DX > (mg/L)| <0.0001
vy 7 v =z v — b (mg/L)| <0.0001 2- 4 b ® U % — k (mg/L)| <0.0001
D - o D = JL (mg/L)| <0.0001
¥ A @ F Y — 2 (mg/L)| <£0.0001
Y A F o v v & 2 (mg/L)| <0.0001
vy 7 7 v & 7 = v (mg/L)| <0.0001
v v A ¥ P > (mg/L)| <0.0001
F 7 v wa  F K (mg/L)[ <0.0001
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